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FACTORING PART 1: Worksheet 1 

                            

Write the prime factorization of each. 

1)     2)    3)      

  

Factor each polynomial completely using the greatest common factor (GCF). 

4)     5)       6)  

 

7)     8)    9)     
 

 

Factor each polynomial (the riddle game). 

 

10)     11)         

  

12)     13)         

 

Factor each polynomial using the difference of two squares.  If it cannot be factored, write prime. 

    

14)    15)    16)      

             

 

17)    18)    19)      

 

Factor completely.    

 

20)    21)    22)       

 

 

23)    24)    25)      

    

 

                       

 

  

75 81

aha 32 ttx 568 

1296 2  tt

68

155 2 a

232 yxyxx  aadda 12164 22 

2092  qq 1832  nn

652  bb 62  ww

42 a 2491 f 252 j

22 81rt  22 964 yn  22 920 rq 

364 2 t 45243 2  xx 24204 2  yy

66 2 w 60205 2  ww 2463 2  yy



                                

 

 

 

KEY 

FACTORING PART 1: Worksheet 1  

 

Write the prime factorization of each. 

1)     2)    3)      

  

Factor each polynomial completely using the greatest common factor (GCF). 

4)    5)       6)  

 

7)    8)    9)     
 

 

Factor each polynomial (the riddle game). 

 

10)     11)         

  

12)     13)         

 

Factor each polynomial using the difference of two squares.  If it cannot be factored, write prime. 

    

14)    15)    16)      

             

 

17)    18)    19)      

 

Factor completely.    

 

20)    21)    22)       

 

 

23)    24)    25)      
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253 43 1722 

)3(5 2 a )7(8 xt )3( aha

)432(3 2  tt )1( 22 yxxyx  )34(4 2  dada

)5)(4(  qq )3)(6(  nn

)1)(6(  bb )2)(3(  ww

)2)(2(  aa )71)(71( ff  prime

)9)(9( rtrt  )38)(38( ynyn  prime

)3)(3(4  tt )5)(3(3  xx )3)(2(4  yy

)1)(1(6  ww )2)(6(5  ww )2)(4(3  yy


